Friday 15th January answers
1. 9
2. 3
3. 13
4. 216
5. 30    40
6. 42
7. 7
8. 106
9. 9
10. 30p
11. 4.5kg or 4 1/2kg
12. 24
13. 70p
14. 62
15. 12

Plurals test answers
tomato  = tomatoes
wolf- wolves
wife = wives
piano- pianos
hero- heroes
fox- foxes
donkey – donkeys
leaf – leaves
tooth – teeth
child – children
cherry – cherries
sheep – sheep
thief – thieves
dwarf – dwarves
deer – deer
chef – chefs
foot – feet
man- men
hoof- hooves
radio- radios
shelf – shelves
window – windows
monkey – monkeys
mouse – mice
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